

Unit 226: Understand employer organisations

Multiple choice questions
1. Which one of the following is a requirement of a first-aider?

a. Buying medication for the first-aid box
b. Monitoring accident and emergency procedures
c. Attending regular first-aid courses
d. Administering medication to staff.

2. Which one of the following is an element of a PESTEL analysis?

a. Scientific
b. Social
c. Specific
d. Strategy.

3. Which one of the following is most likely to be contained in an organisation’s diversity policy?

a.
Ethics
b.
Gender
c.
Ability
d.
Language.

4. Which one of the following is a feature of a public sector organisation?

a.
It makes a profit
b.
It focuses on service
c.
It has plc after its name
d.
It raises money for good causes.

5. Which one of the following is an external reason for change in a business environment?

a.
New product development
b.
Rising cost of inflation
c.
Introduction of IT systems
d.
New management.

6. What is the main reason an organisation changes the products or services it offers?

a.
To keep staff motivated
b.
To increase profitability
c.
To promote customer loyalty
d.
To match other suppliers.

7. Which one of the following is most likely to differ between public sector organisations?

a.
Overall objective
b.
Source of funding
c.
Legislative requirements
d.
Service provided.

8. An organisation uses SWOT analysis to 

a.
Help make a decision 

b.
Identify skills gaps 

c.
Identify external forces

d.
Help schedule tasks.

9. Which one of the following is a feature of a hierarchical organisational structure?

a.
Fewer layers of manager
b.
More people involved in decision-making
c.
More lines of reporting
d.
Fewer opportunities for promotion.
10. Which one of the following functions is present in all types of organisation?

a.
Marketing
b.
Administration
c.
Production

d.
Logistics.



